Review Sheet#2 for Chapters 2 & 3
NAME _____________________________

Math 110, Intermediate Algebra

Vanden Eynden 

1.
 If 
[image: image32..pict] and 
[image: image2.wmf], find the following:

a. 
[image: image3.wmf]
b. 
[image: image4.wmf]
c. 
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d. 
[image: image6.wmf]
e. a, given 
[image: image7.wmf]
f. 
[image: image8.wmf]
g. 
[image: image9.wmf]
h. 
[image: image10.wmf]
i. 
[image: image11.wmf]
j. The domain of 
[image: image12.wmf]
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2. Using the graph of f, estimate:

a. f (–2) 

b. f (3)

c. f (0)

d. What is the Domain and Range of f ?


e. Determine an x-value for which f (x) = 3


3.  
The function 
[image: image13.wmf] is a linear model that can be used the estimate the total U.S. sales of computers, in billions of dollars, t years after 1992.
a. Predict the total U.S. sales of computers in 2005.
b. What does the 2.9 represent in terms of computer sales?
c. What does the 21.2 represent?
4.
Find an equation for a linear function
  5.

Write an equation for the line 

  
passing through the points ((2, 1) and (3, (3).
perpendicular to 
[image: image14.wmf] with


y-intercept (0, 4).
6.
Graph each linear function and state the slope and y-intercept.


Are these two lines PARALLEL, PERPENDICULAR or NEITHER?  WHY?


a.

[image: image15.wmf]
b.  
[image: image16.wmf]
[image: image30.wmf][image: image31.png]»x

-1

-3 -2

5 -4







Slope = _______



Slope =_________



y-intercept: _______


y-intercept: ________

7.
Write a linear function for the line shown.
8.
Graph by hand: 

[image: image17.wmf]




9.
If you rent a car for one day and drive it 225 miles, the cost is $80.  If you drive it for 350 miles in one day, the cost is $105.  Let C(m) represent the cost, in dollars, of driving m miles.


a.
Find a linear function, C(m), that fits the data.

b.
Us the function of part (a) to find how much it will cost to rent a car for one day and drive it 475 miles.

10.  Solve using the substitution method.
11.
Solve using the elimination method


y = x – 4

6x + y = (2


x – 2y = –2
3x ( 4y = 35

12.  Solve using the method of your choice


2x  +    y  –  z  = 9


  x  +  2y  + z  = 3


3x  +  3y  – z  = 14

13.
Solve the each of the following systems BY HAND using the augmented matrix and “legal” row transformations to get the row echelon form.  Check your answer by using your CALCULATOR to get the “row reduced echelon form” (rref) of the augmented matrix.
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6. Determine whether the following equations are dependent, inconsistent or neither.  


Justify your answers.

a.
x ( y = 4
b.  
y = 2x + 7

c.
x ( 2y = 3



x + y = 4
2x ( y = (7
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For problems 15 - 17, write a system of equations.  Solve each system using the method of your choice.  

15.
Hailey and Jacob went to the movie theater 2 times last month.  The first time, they bought two boxes of popcorn, and two Cokes for $9.20.  The second time they bought one box of popcorn and 3 Cokes (they were thirsty!) for $9.50.  What is the price of a box of popcorn?  What is the price of a coke?

16.
A collection of 32 coins has a value of $5.90.  If the coins are quarters and dimes, how many quarters and how many dimes are in this collection?

17.
Three numbers have a sum of 31.  The middle number is 1 more than the smallest number.  The sum of the smaller two numbers is 7 more than the largest number.  Find the three numbers.

Some Formulas from Chapters 2 & 3
Slope-intercept form of a line: 
[image: image21.wmf] or 
[image: image22.wmf] 
Slope formula:  
[image: image23.wmf]
Point-slope formula:  
[image: image24.wmf]
Algebra of functions:

· 
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